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15 £HEFERAR 2% - 447 1.8 2.94
3% - 314 1.2 2.25
4% 2.23 0.8 1.79
LHEEREAR 2% - 480 1.9 3.18
3% - 344 1.1 2.62
4% — 259 0.8 2.19
FHEZEARX 3% 3 44 1.9 2.79
=1 410 1.8 2.60
4% = 2.86 1.2 1.99
=1 2.63 1.2 1.75
5% 1 2.10 0.7 1.80
=1 1.84 0.7 1.55
2%8  S£MEFERAR 2%| - 2.82 1.1 1.85
3% - 1.98 0.7 1.42
4% — 1.41 0.5 1.13
LHEZEREAR 2% - 3.03 1.2 2.00
3% - 217 0.7 1.65
4% — 1.63 0.5 1.38
FHEZEARX 3% 3 2.78 1.2 1.76
=1 2.58 1.1 1.64
4% = 1.81 0.7 1.25
=1 1.66 0.7 1.1
5% 1 1.32 0.4 1.14
=1 1.16 0.4 0.98
3 SMEERAX 2% - 4.89 1.9 3.22
3% - 343 1.3 247
4% — 2.45 0.9 1.96
LHEZEREAR 2% - 5.26 2.0 348
3% - 3.77 1.2 2.87
4% — 2.83 0.9 2.39
FHEFZEARK 3% 3 483 2.0 3.06
F 4.49 1.9 2.84
4% = 3.13 1.3 2.18
=1 2.88 1.3 1.92
5% 1 2.30 0.8 1.97
=1 2.02 0.8 1.70
4% SHRFZERAR 2% - 456 1.8 3.00
3% - 3.20 1.2 2.30
4% — 2.28 0.8 1.83
KEWALFAR 8% - 3.63 1.8 2.23
7E| — 2.66 1.1 1.99
6Z| — 2.29 0.8 1.96
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% % %
4% A TV RAK 1% — 0.65 0.6 0.49
2F| — 0.09 0.6 0.01
3E| - 0.02 0.6 0.01
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148 £HEFZERAR 2% - 1.36 1.1 0.63
3% - 1.05 1.1 0.37
4% 0.82 1.0 0.22
LHEBEREAR 2% - 1.14 1.1 0.42
3% - 0.53 0.9 0.05
4% — 0.26 0.7 0.01
FHEZEARX 3% 1 1.46 1.1 0.63
F 1.44 1.2 0.62
4% = 0.77 0.9 0.25
=1 0.75 0.9 0.24
5| 1 0.41 0.7 0.06
=1 0.39 0.8 0.05
2¥8  S£MEFZFERAR 2% - 1.36 1.1 0.63
3% - 1.05 1.1 0.37
4% — 0.82 1.0 0.22
LHEZEREAR 2% - 1.14 1.1 0.42
3% - 0.53 0.9 0.05
4% — 0.26 0.7 0.01
FHEZEARX 3% 3 1.46 1.1 0.63
F 1.44 1.2 0.62
4% = 0.77 0.9 0.25
=1 0.75 0.9 0.24
5% 3 0.41 0.7 0.06
=1 0.39 0.8 0.05
3 SMEERAK 2% - 1.36 1.1 0.63
3% - 1.05 1.1 0.37
4% — 0.82 1.0 0.22
SHEZEREAR 2% - 1.14 1.1 0.42
3% - 0.53 0.9 0.05
4% — 0.26 0.7 0.01
FHEFZEARK 3% 1 1.46 1.1 0.63
F 1.44 1.2 0.62
4% &= 0.77 0.9 0.25
=1 0.75 0.9 0.24
5% 1 0.41 0.7 0.06
=1 0.39 0.8 0.05
4% SHREFZERAR 2% - 1.34 1.1 0.62
3% - 1.03 1.1 0.36
4% — 0.80 1.0 0.21
2HEZEREAK 2% - 1.12 1.1 0.41
3% - 0.51 0.9 0.04
4% — 0.24 0.7 0.01
FHEZAK 3% 1 1.44 1.1 0.62
=1 1.42 1.2 0.61
4% &= 0.75 0.9 0.24
=1 0.73 0.9 0.23
5| 1 0.39 0.7 0.05
=1 0.37 0.8 0.04
588 S£MBFERAX 2% - 1.36 1.1 0.63
3% - 1.05 1.1 0.37
4% — 0.82 1.0 0.22
6% KEWAHEZAR 8% - 1.12 1.1 0.43
7Z| — 0.49 0.9 0.05
6Z| — 0.13 0.6 0.01
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5% Mg/ TV I XAK 1% — 1.98 0.8 1.56
2F| — 0.60 0.7 0.38
3| - 0.02 0.6 0.01
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448 HhigA Ty RAK 1% — 1.20 0.7 0.95
2F| — 0.29 0.6 0.20
3| - 0.02 0.6 0.01
54 Mg/ TV I RAK 1% — 0.76 0.7 0.54
2F| — 0.03 0.6 0.01
3| - 0.02 0.6 0.01
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148 £HEFZERAR 2% - 2.90 3.0 0.34
3% - 1.07 1.3 0.19
4% 0.42 0.8 0.07
LHEBEREAR 2% - 3.09 3.2 0.33
3% - 1.15 1.4 0.20
4% — 0.46 0.9 0.09
FHEZEARX 3% 1 3.09 32 0.32
=1 2.81 3.0 0.24
4% = 1.17 1.4 0.16
=1 0.98 1.3 0.13
5| 1 0.47 0.9 0.05
=1 0.36 0.8 0.04
2¥8  S£MEFZFERAR 2% - 2.90 30 0.34
3% - 1.07 1.3 0.19
4% — 0.42 0.8 0.07
LHEZEREAR 2% - 3.09 3.2 0.33
3% - 1.15 1.4 0.20
4% — 0.46 0.9 0.09
FHEZEARX 3% 3 3.09 3.2 0.32
=1 2.81 3.0 0.24
4% = 1.17 1.4 0.16
=1 0.98 1.3 0.13
5% 3 0.47 0.9 0.05
=1 0.36 0.8 0.04
3% E£MEFEIRAR 2% - 2.90 30 0.34
3% - 1.07 1.3 0.19
4% — 0.42 0.8 0.07
SHEZEREAR 2% - 3.09 3.2 0.33
3% - 1.15 1.4 0.20
4% — 0.46 0.9 0.09
FHEFZEARK 3% 1 3.09 3.2 0.32
=1 2.81 3.0 0.24
4% &= 1.17 1.4 0.16
=1 0.98 1.3 0.13
5% 1 0.47 0.9 0.05
=1 0.36 0.8 0.04
4% SHREFZERAR 2% - 2.90 3.0 0.34
3% - 1.07 1.3 0.19
4% — 0.42 0.8 0.07
KEWALFAR 8% - 3.14 33 0.29
7E| — 1.91 2.1 0.25
6Z| — 1.14 1.4 0.18
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448 HhigA Ty RAK 1% — 0.84 0.8 0.46
2F| — 0.03 0.6 0.01
3| - 0.02 0.6 0.01
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— A Ty I RAK 1% — 4.46 0.8 3.88
2F| — 2.64 0.7 232
3| - 1.55 0.6 1.35
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38 Mg TV RAK 1% — 1.24 0.7 0.94
2F| — 0.41 0.6 0.31
3| - 0.02 0.6 0.01
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— A Ty I RAK 1% — 1.07 0.7 0.78
2F| — 0.15 0.6 0.06
3| - 0.02 0.6 0.01
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38 A TV RAK 1% — 1.49 0.7 1.22
2F| — 0.27 0.6 0.18
3E| - 0.02 0.6 0.01




#FEHDIESE

T44
ERERFRA HEER HREHE A
EHRE BERREERFHEE EHRE
ZIBRREIE s . iy v o,
N I ; HESTHM HiFHE BihEE R H
MES sI%73 sppEEns | CEROER | BEE | ReRER | ERs
% % %
- HgA Ty I RAK 1% — 1.95 0.9 1.39
2F| — 0.68 0.6 0.52
3| - 0.11 0.6 0.03
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- HgA Ty I RAK 1% — 1.94 0.7 1.61
2F| — 0.46 0.6 0.31
3| - 0.02 0.6 0.01
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1.51 1.9 0.12
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